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1 * | FARE Sy 396 27% 150 10 117 18
2 O FEAZHIEES HR 156 59% 17 92 90 69 87 73
3 * R 5| 230 37% 95 85 100 86 78 70
4 * TR RR 298 17% 83 52 55 38 79 53
5 BiA R 309 21% 81 65 60 52 51 33
6 |k # " 214 28% 77 59 94 71 86 66
7 * | EABEFERE FE 359 17% 75 62 64 51 74 59
8 BEER 51| 366 18% 74 67 44 37 44 35
9 * | RAFE 51| 171 25% 55 43 47 37 46 38
10 | % |#E& RN 223 19% 52 42 63 52 72 67
1M1 | REF 5| 261 18% 51 46 45 37 43 39
12 |k RBBEZERA RHR 201 20% 50 41 43 36 40 35
13 | % |8 R 306 13% 49 41 49 42 43 31
14 | % BEANZEER =B 362 9% 44 32 71 53 73 50
15 | % |5 -H—JL ERE 214 14% 42 29 37 24 37 26
16 JAFN(RIL) BE 367 6% 41 21 44 25 36 21
17 | % |BIZERFD R 227 1% 39 26 44 36 72 55
18 |k |ABKRKEMHIER Eit i 204 15% 38 30 32 25 37 32
19 | % FEER gE 199 1% 32 22 27 19 36 29
20 | RfEH R 302 8% 30 24 43 32 39 31
21 |k |ERFER 51| 237 12% 28 28 15 14 22 19
21 |k ZFER RHR 231 1% 28 25 26 25 27 22
21 | O REKEHE RR 239 9% 28 22 36 28 29 22
21 | & EE BH 378 6% 28 22 36 32 38 25
21 BE R 396 4% 28 16 28 1 25 13
26 |k RAFFEE =B 200 10% 26 20 35 27 18 15
27 | % HE R 172 6% 23 11 26 20 21 16
27 | % |&FE RED 401 5% 23 22 12 9 13 12
27 ®RRE alll 541 2% 23 13 21 9 23 10
30 O ZE=EXKME R 321 4% 22 13 21 13 14 7
MR AU - EEMROERASHRED LV ZER

A& e 403 19 11 14 11 25 16

{EBREE = 429 12 6 18 9 13 7

O LEEKRZEHIERL N=3 197 10 10 6 5 7 5

AR LEHRE K5 315 10 8 6 5 9 6

* LB /N 184 9 6 17 10 12 10

*x BE & 198 6 3 7 6 6 3
=T 8 270 6 4 3 3 6 3

IN=] IN=] 226 5 4 5 4 5 4

AL BRE 306 5 3 6 5 6 2

O LBKREHE N 196 4 4 5 5 9 7
RIGFE Ri& 271 4 4 7 4 3 1

& Fit i 396 4 3 4 2 4 4
BlFA=E =5 342 4 1 1 1 3 1

* |BLFEE E8 178 3 2 1 0 0 0

R G| 273 3 2 4 1 0 0

* |EE L5 282 3 2 3 1 6 5

= i =4 350 3 2 9 5 2 1

* | RIEKFE & 358 3 2 0 0 0 0
LR Gz | 425 3 2 10 4 4 3
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* LSEESED BERE 84 2 0 1
* | &R & 154 2 2 0 0 1 -
RIBR Ri% 257 2 2 2 1 1 1
B R 265 2 2 4 2 3 2
B Fit i 270 2 2 1 - 1 -
* |/ —bMILELED N 169 2 1 1 - 2 0
S=2H N 199 2 1 0 0 0 -
RDERT VA 218 2 1 1 - 4 3
BERE BEAR 393 2 1 2 - 1 -
* [LBHE IN= 126 1 1 0 0 0 0
=H Vil 132 1 1 0 0 0 0
&t /N 182 1 1 1 1 - -
Ve Sld Ri& 221 1 1 1 1 2 1
* BEfHEEE = 224 1 1 0 0 1 1
B E8 226 1 1 0 0 0 0
EERSERE BRE 227 1 1 1 - 0 0
* | fEFEE & 308 1 1 0 0 0 0
TTH V) 112 1 - 0 0 0 0
* AlCJ NG 135 1 - 1 - 0 0
* FAFE vzl | 147 1 - 1 - 0 0
=k LE 194 1 - 0 0 0 0
*x EANELERLES yN=} 231 1 - 0 0 0 0
& & 275 1 - 0 0 4 1
IR o =4 286 1 - 1 - 1 -
* | HRPEEEI ERE 353 1 - - - - -
* | FEREFRR & 419 1 - 0 0 -
* | BREAEHBERR & 630 1 - 3 2
* | KSR Vava) 651 1 - 1 =
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